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1. AWROEILS (A B (a5 A7 faTR Me? {38 diumnal tide?  (947)
2 RITERRE AR BRI 97)

3. CTD WLAMSEerHAE? e CTD BRzeR T-S [|? Hig—IRT-SE? ©
RBREDHA?  (1045)

4. R R EFHER (AN trade winds, westerlies)? RREAAZSHEAIZRETLE IR
EEERWTMER? ILTIBEAUE A IRRGR?  (105))

5. HufFFi(geostrophic current) R EARIZRHY? S BRI EI R D SRR
1% o Mol F R AR AR BTRESREIAD = 0/1000
dbar » FERMAERR? (10 43)

6. INENSEESLANEE(TER? B RENFERAE? 0 (estuary RISHIK
BB RREE? SRR E - (10)

IR AREA(EERE 6 43)

1. El Nino . 5. potential temperature

2. Ekman spiral 6. internal wave

3. sound channel 7. westward intensification of

4. sigma-t boundary current




I RE A RE AR EER A TR

FHE : AR E (EHmELn] 5 | e IE

— -~ HERARR(ERE T 51)
1. continuity equation 6. cavitation
2. incompressible flow 7. boundary layer
3. vorticity 8. local and convective acceleration
4, Reynolds number 9, Bernoulli equation
5. Froude number " 10. head loss

Z—E R  Z  F E%’Fﬁﬂ%%ﬁﬁﬁ&ﬁ:%%ﬁ L Fifd
T 0 BRSBTS v IRV REDF=f (LY, 0, ) FIAHEER
SRS R AL - 1053)

i

* THR R R AR L bt (irrotational flow),

(@) V=21 +(X5)T

(b) V= -(2ap+5)T +(5" )T

A R IR RN 2 MR {37 (velocity potential IV Bi#8(stream function). (10

1)
/4 - A venturi meter, shown in Fig. P3.165, is a carefully designed constriction whose
pressure difference is a measure of the flow rate in a pipe. Using Bernoulii
equation for steady incompressible flow with no losses, show that the flow rate Q
is related to the manometer reading hby

0= 4, 2gh{(py — p)
J1-(D, /D))" \/ p

Where o is the density of the manometer fluid. (10 53)
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